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OVERVIEW

The X713 relates that ax1 killed only the males of 017X; when asked why, he replied
that this is how was taught to read the 105 as 727 (with two 0'""¥1p) meaning males,
when the teacher was asked, the teacher replied that he taught him =21, however
there are no vowels in the X713, so we are not certain what his *27 taught 2x1°. The
X 3 concludes that ax1 wanted to kill his °27, saying that he was ' naRo» qww
m1.! The " explains the X3 as follows:
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That his 529 taught him =27 properly (7530 7">m 7% 1"17), meaning the
remembrance (of P91Y), and the 79121 (the slackness of the °27) consisted that the

27 did not pay attention how his student was reading it, and n1901n agrees with
this explanation —

mooIN rejects an alternate explanation:
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However, n201n disagrees with an alternate explanation that also the 539 was
mistaken and he incorrectly taught him =927 (with two 0'""2%p; meaning males) for
if that indeed was the case, it cannot be considered 1.

SUMMARY
The *27 was slack since he did not follow up on how his student is reading, but not
that the *27 made a mistake, for that is not considered 3>>9.

THINKING IT OVER
Is there any advantage in the second explanation (the w197 X1 1°X)?

! This 109 in >,An »7° means that one who is slack and fraudulent in doing the work of 71 should be cursed.
Teaching children how to read 7n is ' nax9n. Therefore ax wanted to kill him since he was not taught the proper
way how to read P91y 921 NR amAN.

2 7m1 indicates a lack of diligence in the teaching, but here the teacher was not slack, he merely was mistaken
himself, that cannot be called 7»»". It is an honest mistake. See ‘Thinking it over’.
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